3) Note that in this question, as is standard convention, we are using ‘log’ to denote ‘log10’ (‘log to base 10’). 
102 = 100 is written in exponential form.
The equivalent expression in logarithmic form is log10 100 = 2, or simply log 100 = 2. 

The powers of 10 are logarithms to base 10.

e.g.

	Number 
	1000
	100
	10
	1
	0.1
	0.01
	0.001

	Power of 10
	103
	102
	101
	100
	10-1
	10-2
	10-3

	log10  of number 
	3
	2
	1
	0
	-1
	-2
	-3


More generally, the logarithm of a number x with respect to base 10 is the power to which we have to raise 10 to obtain x. 

i.e. 
log10x = y  is equivalent to x = 10y  

(Note: ‘log10’ is often  referred to as simply ‘log’ )

From the above definition and note, we get the following rule: 10log(x) = x.
Practise keying these expressions into your calculator. 
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On the CASIO fx-85GT calculator, use the

key to find the logarithm of a number to base 10. 
This key is near the top right-hand corner of the calculator, two down and one to the left of the ON key. 
Key in:

[image: image2.wmf][]

10

 

Your calculator should report the answer as “2”, as expected from the answer above.

Note that the open bracket “(“ appears on the screen when the
     key is pressed, which is why we press the close bracket “)” key after the “100” in this calculation. The “(” and “)” keys are in the middle of the CASIO fx-85GT calculator.


On the CASIO fx-85GT calculator, the 

key is the             key, once SHIFT is pressed (where the SHIFT key is the blue button in the top left of the calculator). 


When
 

      are pressed, “10^(” appears on the screen to denote that we are 
raising the 10 to the power of the following quantity. In this example above we are raising 10 to the power of 2. Since this key opens a bracket we need to close this bracket after the “2” and so press the “)” key. 

Key in:



(noting that by pressing 


means that the ‘antilog’ or ‘inverse log’ to base 

10 is being used, i.e. 

   is the key being used here).

Your calculator should report the answer as “100”, as expected from the original question above.
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